Run 4358 triggerwise, sums: All Run 4358 triggerwise, sums: Beam OFF
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Run 4358 triggerwise, sums: Beam ON, Laser ON Run 4358 triggerwise, sums: Beam ON, Laser OFF
— e 45000 — . .
80000 — —— Helicity==0 - — Helicity==0
80000 — Helicity==1 40000 = — Helicity==1
20000 E_ E 76994 25000 :_
- ar 3.74a53 5.5 E
- 30000 —
60000 :_ St Dew: SEE00415 45 3.9648 —
HO000 :— Endrizs: TTOHE 25000 :_ Endrias: 111345
40000 :__ Maan: 53518726 +/ 55083 E:}[l{][:f Maan: $416.1973 +4 45821
g St Dew: £233.1240 45 1.9663 'IEU'DII}E Std Dew: 25569234 45 3,080
30000 — |
20000 10000
10000 = 5000 —
'D:|-' I RN [N SN TR NN (N N NN SR MR SN NN D:|=|||| R N SN [N N NN TN NN NN NN NN SN (RN NN S NN SN SN N
0 20000 30000 40000 0000 0 10000 20000 30000 40000 SO000




